ACT FCM-02

FIRST YEAR HIGHER SECONDARY MODEL EXAMINATION, AUGUST 2021

Part — III Time : 2 Hours
COMPUTER APPLICATION Cool-off Time : 20 Minutes
COMMERCE
Maximum : 60 Scores

General Instructions to Candidates

There is a cool-off time of 20 minutes.

Use cool-off time to familiarize questions and to
plan your answers.

Read Questions carefully before answering.

Read the instructions carefully.

Calculations and figures should be shown in
answer sheet itself.

Malayalam version of the questions is also
provided.

Give equations wherever necessary.

Electronic devices except non-programmable
calculators are not allowed in Examination hall.
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PA

RT A

Answer any 5 questions from 1 to 7.
Each carries 1 score(5X1=5)

1 2}®@3 7 UOE@SS @aldr(eensl®d
a@BO@MB1L1ze 5 nG)EROTIM DO

) PYOND>.

639@IMIMYe 1 MiBH:9@ nllmo (5X1 = 5)

1  The number system which uses the symbols
0,1,2,3,4,5,6 and 7 is called....number system
(Binary, Decimal, Octal, Hexadecimal)

2 1MB=1024 ___
(Bytes, KB, GB,TB)

3 Source code is converted into object code

during __ phase in programming.

(Execution, Coding, Documentation,
Translation)

0,1,2,3,4,5,6,7 ag)0ml allamearud
ale@Iuilesnmm mmid milgpeom _ mmud
milage agyamy ailglesgamy.

(Binary, Decimal, Octal, Hexadecimal)

2 1MB=1024
(Bytes, KB, GB,TB)
3 GaVIYIY GoWlem GBeNisRdEssS GdHoWom)l

DIQIMN® B ldWIA6BEIOHNR
cquedlelnem.

(Execution, Coding, Documentation,
Translation)
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4 Which among the following is not a character | 4 ~ ©969 @MI@lERMAUIES B0EL55E elgo®d
literal ? @ORPOTND GO ?
(‘a', "a, a, '8) ('a', \a, a, '8)
5  Which is the ternary operator in C++? 5 CHt erl 0s8MAl 89eJe0Q8 a@@osny ?
6 ... is an exit controlled loop. 6 B3©} ag)BMUIG B6ME(SIUBUY eije] @REM.
7  Which among the following can be set up 7 @69 @IEleaMOIQI@D 6paSIoToY
using bluetooth ? 9ale@IUIls] OAVY ©.21QPIAWMND@ aB@?
(PAN,LAN,MAN,WAN) (PAN,LAN,MAN,WAN)
Part - B
Answer any 10 questions from 8 to 27. 8 M@ 27 AUOEWISS @alda(6ERgl@d
a@e®ssleRe 10 ageREBIa) 2O™E
) PIONB>.
Each carries 2 scores (10X2=20) 639@EIMIMYe 2 MIBB:9@ all@mo (10X2 = 20)
8  Identify the smallest number in the list given |8 ~@mil@lesm eilgflad mlmy aggage Oaidlw
below. MMNIB BN llSIE6)H.
a. 1101, b163 c.12 d.B16 a. 1101, b168 .0 20 d-816
9  How is data different from information? 9 Information @d aloy awdQ ageaReM
Q@I SIGleemM?
10 Compare RAM and ROM 10 RAM, ROM ag)amil @oe@ajo 62190
11 From the given pairs, which would you 11 @mildlenm ezoulle:gl@d adlmdole
choose for minimal adverse impact on the HJ06TO E3daHo QIGIOTRAND oGO ?
environment?
(a) Laptop and Desktop (a) Laptop and Desktop
(b) Hard copy and Soft copy (b) Hard copy and Soft copy
12 How is Bar code different from Q R code? | 12 6n19@ @500 , &3 @@ EHUI@3 mlamge
a)6BBOM QU@OMIe|SIEleaM] ?
13 Listany two limitations of flowcharts. 13 2080210851003 n@e®sslR13e @6N=)
BlOEIQIABUB af) 93>
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15

16

17

18

19

20

21

22

23

The following algorithm finds the smaller
of two numbers. Fill in the missing steps.

1 START
2 INPUT AB

4. PRINT A
5 ELSE

Explain
a) Syntax error
b) Logical error

a. What is an identifier?
b. Identifier used to name a statement is
called .............

What is the difference between float and
“float” ?

Find the output of the following expressions
if x=10 and y=3.

a. xl=y
b. x<=10 && y>3

Which are the numerical data types in C++?

Give the output for the following C++ code.

int a=5, b=5;
a=++b;
cout<<a<<’\n’<<b;

What is implicit type conversion? Why is it
referred to as type promotion?

Rewrite the following using if else statement.

(n%2==0)?cout<<"Even":cout<<"0Odd";

Write any two selection statements in C++ ?

3

14

15

16

17

18

19

20

21

22

23

@6N3} MVoEU(ESIMB 6).2103) HH6N3Y
allSleenomss @R@ICNIGIMo ®INY
IS}ENM] . Q53610 BINo
al@lojleene

1 START

2 INPUT AB

4. PRINT A
5 ELSE

Qllveldle-@leenss
(@) Syntax error
(b) Logical Error

a. ©a)WFa0@AB ag)MITB ag)ao) ?
b. equeeamgem myailalesnm wadlao@ad

float , “float” DU @EALRBS AY@(OMo
a)qo) ?

x=10, y=3 @R66mMsmd MINY @aMIGleaniam
)BTV (I UMIBHBIOS BDFaIG af) 3N

a) xl=y
b) x<=10 && y>3

CH++ 81 Moald BUQOOSAIEUS aBODEJI0?

@969 @®MIx88 C++ IO} 803135
) PIOND>

int a=5, b=5;

a=++b;

cout<<a<<’\n’<<b;
Implicit type conversion agmo@d ag)0oi?
so@lem type promotion agymy ailglesom
&I®6Mo af)0) ?

@aey ommigissclem if else sqygoaag’
9ale@IUils] MGl ag)93@Re>
(n%2==0)?cout<<"Even":cout<<"Odd";

C++ 621 aBemBs12l)o E6ME MVRISHTD
BANQORNRISBIOS BalO@LIMD:
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25

26

27

Name any four advantages of computer
networks.

List various drawbacks in the use of Social
media.

What is Cc and Bcc, with regard to Email?

Write any two challenges to e-Business

24

25

26

27

HMURPSS OMY QAUBLEIONMY a@emBsIR3e MILT
GRAMBUB )WY

GMIH(@B AWI@ROS DalEINTDIE
allaflw MIM@EUB alSle:6)1q SIS,

-6a@leR@@) snimMweqs Cc, Bec agyarilal
af)amoeNy ?

so-snflmilmaileng agemesleie @enz]
egRlgle:u8 ag)eimne

PART C

Answer any 10 questions from 28 to 48

Each carries 3 scores (10X3 = 30)

28 ;@ @3 48 NIOHEWIBS Ba193(68RS 3
a@eO@ssleRe 10 ag)eROEBIN 2O™MMEo
ag)9IOND>.

6396EIMIMYo 3 MIEH:0@ aflmo (10X3 = 30)

28

29

30

31

32

33

34

Represent -15 in three integer representation
forms. (Use 8 bit notation)

Data processing refers to the activities
performed on data to generate information.
List the stages in data processing

a. Expand ASCII. (1)
b. Write any two advantages of Unicode
over ASCII. 2)

What is the difference between impact and
non impact printers . Give one example for
each

a. What is green computing ? (M
b. Name the different complementary

approaches to green computing

(2)

List the different phases of programming

Draw a flowchart to calculate the average of
three numbers.

4

28

29

30

31

32

33

34

23 integer (o@lmlwy Al@legleo -15 om
(@ISl e@ 0636 (8 6nilg HMIGFHB
alE@IUIH6QH,)

WIQ@I@3 ailaMye DMBaNB@ERMDB

M(HS] BN (IAUBDDMEBBOS EalO@IUID]
QWIQIB(IIMIQIIET af)aMIEN A lO@IM@).
waq lamq@ilouilong allailw eeigearUd
alSle:6)q|SIO™E:

a. ASCIll @3S al3@6mM®lalo af) 9@ (1)

b. ASCIl e@®e62u3 Unicode em
6D.0]6)q|SDISNM GOS0 @6NE]
UNEMEBRUB ) 9IRS,

(2)

Impact, non impact (ilagoyeud medlenss
Q@O0 o)D) ? BICBI DRINGEMo il

() 93OND

a. ag)amoem (U3 Smusler ?
b. Sl @musler Grlo@Iadlajlee
ma@lmes allailw 298weeBus a@ameydoe ? (2)

(1)

ellowaalsaiklenl allallw ~eigeerud
alSle:6)q SIS

@30M} MEU(EBIOS BEIUDMEI
SIEMIMDI MBS a1EB2I10BS AUEQILERH:
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36

37

38

39

40

41

Categorize the following into different type of
tokens

123, “hello” , int, sum , + , #

Explain any three type of statements in C++

Explain floating point data types in C++

Write the output of the given C++ statements.

a) cout << 5/2;
b) cout << 5.0/2;
c) cout << 5/ (int) 2.0;

Write C++ statements for the following.

a. Divide q by r and store the remainder in q.
b. Find the square of x and store it in x.

C. Add x to y and store the sum in x.

Consider the code given below.

inti, sum=0;
i=1;
while(i<10)
{
sum=sum-+i;
it+;
}
cout <<sum;
a. Which is the loop control variable? (1)
b. Write the initialization expression, test

expression, update statement and body of the
loop. 2

Compare switch and if else if ladder

5

35

36

37

38

39

40

41

@269 @mMIclenyma@l@d mlimie allallw
BSIBOEMYBUB @@ @6).2] 93RS

123, “hello”, int, sum , + , #

C++ 0.l a@emaslello @3 @®o
eaRQeaRe:ud Qilvadle@leeys:

C++ ©.l 8qagoglers @ald@ng’ BaWQ ©6)Sq|3exuB
allvedlel@leanyss

@269 mmlgiss C++ statement &:836s
BDSal}S af) 3OS,

a) cout<<5/2;

b) cout << 5.0/2;

c) cout << 5/ (int) 2.0;

@MIISI8s @RNIUREERUBHE) C++ statement

) PIORE>.

a. g &M I OBINE aN@J0@D LIElSeM
UBla¥iSo g @B Store 6).a1Q)00d

b. x &} square(do) &6ne aflsla] @ ailes
X @3 @& store 621Q00d

C. X (M@0 Y QIOSWo @} X @3 store
6).21Q)OMd

@IOY alOQIM BBHIW al@INEMIHB6}H:

inti, sum=0;
i=1;
while(i<10)
{
sum=sum-i;
i++;

}

cout <<sum;

a. ela] &emesovd eudlenilud ag@? (1)

b. Mla©OHRIBNVHMB af)BSMV(alaHMB, HSQY

) M(ala(MB, @RI aUEORNG, elda]
G6nIOW )M ag)93@)Es. (2)

switch, if else if ladder ag)omla @A
6alQRb.
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43

44

45

46

a7

48

a. Give the output of the following code.

i=10;
while( i<=20)
{
cout<<i<<\t';
i+=3;
} 1)

b. Rewrite the code using for loop

)

Write the functions of the following
a. Router

b. Gateway

C. Bridge

What is an IP Address? What are the two
versions of IP addresses.

Define the following terms.

a. Virus b. Trojan Horse

Identify the internet service

a) Fast and efficient mailing system.

b) Looking up related data using keywords

c¢) Use of mobile and web-based technologies

to create and share digital content.

List any three advantages of e-Learning.

Explain the infrastructure required for e-
governance.

6
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44
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a. ®IeY ®@MISIss C++ 600N 8M3a1S
) PIORE-

i =10;
while( i<=20)
{
cout<<i<<\t';
i+=3;

} 1)

b. myegloal esonilom for enaf
9ale@IUI 5] MGl ag)9I@}Es.

IO alOWIMAUQIOS aN63aUMIBUB
af) 93Oy

a. 0J5@

b.enq eau

c. (enilowyed

af)Q®I6M Oag)ail @RELMI? Oag) all
@BIWMIEBIONS 6Ny version &ud
a@BeO@®EJdo ?

@IOY alO@IM a1R68RUB MIBQYllees:.

a. Virus b. Trojan Horse

HARBOME BAVAUMo aBODN] WIG]o|Clds.

a. CUNOERAIWDo HHIRIEHANIAIQ
enleloty Mionilwomoe.

b. Sleaiueud 9aleouils] @rMIENITW
WwaQ MABNBOHMEITE @IE@I0

C. ®22666NI@3, HAUeNT @U@
MLIBHDI BN B(EUB Dale@IUils] digital
content ma¥slesndmyo aleslsomye
auowleeymmy

e0-@elemlolem a@emesleile @) GRMEUB

ag) OB

ED-NEAUEMBVINT @RHNUURRI EDMB
(@D (SHaIB QIR
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PART D

Questions 49 and 50 carry 5 scores each.
Attend any one (1X5 =15)

49 )@ @3 50 NIOERSS @2103(68R3s 3
agie@sslee ol 9OTMEo ag)PI@R6:.
5 Mie9@ aflmo (1X5 = 5)

49 Correct the errors in the following C++
program.

#include <iostream>
using std namespace;
int main()
{
int a;b;sum;
cout>>"Enter Two Numbers";
cin<<a<<b;
a+b=sum;
cout<<sum;

}

50 What is meant by topology? Briefly explain
various Network topologies with diagrams.

49

50

@588 C++ GIdWIAIOR ONQIE-UB
© YOS,

#include <iostream>
using std namespace;
int main()
{
int a;b;sum;
cout>>"Enter Two Numbers";
cin<<a<<b;
at+b=sum;
cout<<sum;

}

OMQAUBHS) BSIBIBE] af)NITD af)AMIEM?
2l@osleng manoeomaes aflailw
OMQAUBSHE) @SIBIBESBUB 213036
Qlludleess

Questions Prepared By
« Shabeer M Mundekat, GHSS Ezhur

- Jessie Mathew, GHSS Vaniyambalam
« Noushad M.K, GHSS Edakkara

- Liju Mathew, Marthoma HSS Chungathara

« Priya M D, GHSS Purathur

« TCA Gafoor, AKM HSS Kottoor
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